

9. a. $x+x = 2x$
 b. $x \times x = x^2$
 c. $2x+x = 3x$

d. $3x+2 = 3x+2$
 e. $2x \times x = 2x^2$
 f. $x^2+x = x^2+x$

g. $0 \times x = 0$
 h. $1+2x = 1+2x$
 i. $0+x = x$

j. $5x \times 6x = 30x^2$
 k. $4x \times 5 = 20x$
 l. $x \times x + x = x^2+x$

10. a. $5x+3x = (5+3)x = 8x$
 b. $3x-8x = (3-8)x = -5x$

c. $-4x+15x = (-4+15)x = 11x$
 d. $-9x-6x = (-9-6)x = -15x$

11a. $12x-y+2 = 12x-y+2$
 b. $7y+12-13y = 7y-13y+12 = -6y+12$
 c. $10-8d+3 = -8d+10+3 = -8d+13$

d. $8-x+x^2+5x = x^2-x+5x+8 = x^2+4x+8$
 e. $3t-12t+t^2-7 = t^2+3t-12t-7 = t^2-9t-7$
 f. $a^2+b-a+3b = a^2-a+b+3b = a^2-a+4b$

1. A = $5+(2x+3)$
 $= 5+2x+3$
 $= 5+3+2x$
 $= 8+2x$
 $= 2x+8$

D = $(4x+2)+(-6x-2)$
 $= 4x+2+(-6x)+(-2)$
 $= 4x-6x+2-2$
 $= -2x$

B = $5x-(3-4x)$
 $= 5x-3-(-4x)$
 $= 5x-3+4x$
 $= 5x+4x-3$
 $= 9x-3$

E = $-(-3x-1)+(x-3)$
 $= -(3x)-(-1)+x-3$
 $= 3x+1+x-3$
 $= 4x-2$

C = $(x-4)-6$
 $= x-4-6$
 $= x-10$

F = $8x-(5x+2)+(3-4x)$
 $= 8x-5x-2+3+(-4x)$
 $= 8x-5x-2+3-4x$
 $= 8x-5x-4x-2+3$
 $= -x+1$

②

$$\begin{aligned} 2. A &= (x+3) + (4x-5) \\ &= x+3+4x-5 \\ &= \boxed{5x-2} \end{aligned}$$

$$\begin{aligned} B &= 6-2t - (4t-8) \\ &= 6-2t-4t-(-8) \\ &= -2t-4t+6+8 \\ &= \boxed{-6t+14} \end{aligned}$$

$$\begin{aligned} C &= -(8a+3) - 4a \\ &= -8a-3-4a \\ &= \boxed{-12a-3} \end{aligned}$$

$$\begin{aligned} D &= (3y+7) + (-5y+3) \\ &= 3y+7+(-5y)+(+3) \\ &= 3y-5y+7+3 \\ &= \boxed{-2y+10} \end{aligned}$$

$$\begin{aligned} E &= 5z-6 - (7-2z) + 3z \\ &= 5z-6-7-(-2z)+3z \\ &= 5z+2z+3z-6-7 \\ &= \boxed{10z-13} \end{aligned}$$

$$\begin{aligned} F &= (3-4x) - (-2x+8) \\ &= 3-4x-(-2x)-(+8) \\ &= 3-4x+2x-8 \\ &= -4x+2x+3-8 \\ &= \boxed{-2x-5} \end{aligned}$$

$$\begin{aligned} 14A &= (-3+y) \times 9 \\ &= -3 \times 9 + y \times 9 \\ &= \boxed{-27+9y} \\ B &= -6(2x-7) \\ &= -6 \times 2x - 6 \times (-7) \\ &= \boxed{-12x+42} \end{aligned}$$

$$\begin{aligned} C &= (3t+2) \times 8 \\ &= 3t \times 8 + 2 \times 8 \\ &= \boxed{24t+16} \end{aligned}$$

$$\begin{aligned} D &= -8(9-7x) \\ &= -8 \times 9 - 8 \times -7x \\ &= -72 + 56x \\ &= \boxed{56x-72} \end{aligned}$$

$$\begin{aligned} E &= -8z(4-3z) \\ &= -8z \times 4 - 8z \times (-3z) \\ &= -32z + 24z^2 \\ &= \boxed{24z^2-32z} \end{aligned}$$

$$\begin{aligned} F &= 3y(-4+6y) \\ &= 3y \times (-4) + 3y \times 6y \\ &= -12y + 18y^2 \\ &= \boxed{18y^2-12y} \end{aligned}$$

③

$$15. A = x(x+4)$$

$$= x \times x + x \times 4$$

$$= \boxed{x^2 + 4x}$$

$$B = 7y(2-3y)$$

$$= 7y \times 2 + 7y \times (-3y)$$

$$= 14y - 21y^2$$

$$= \boxed{-21y^2 + 14y}$$

$$C = -2y(5-y)$$

$$= -2y \times 5 - 2y \times (-y)$$

$$= \boxed{-10y + 2y^2}$$

$$D = (9-3t) \times 4t$$

$$= 9 \times 4t - 3t \times 4t$$

$$= 36t - 12t^2$$

$$= \boxed{-12t^2 + 36t}$$

$$16. A = 11 + 2(x-6)$$

$$= 11 + 2x - 12$$

$$= 2x - 12 + 11$$

$$= \boxed{2x - 1}$$

$$B = -3(2y-4) - 2y$$

$$= -3 \times 2y - 3 \times (-4) - 2y$$

$$= -6y + 12 - 2y$$

$$= \boxed{-8y + 12}$$

$$C = 7 - 4(8-2a) + a$$

$$= 7 - 4 \times 8 - 4 \times (-2a) + a$$

$$= 7 - 32 + 8a + a$$

$$= \boxed{9a - 25}$$

$$D = -15 - 9(-5+3b)$$

$$= -15 - 9 \times (-5) - 9 \times 3b$$

$$= -15 + 45 - 27b$$

$$= \boxed{-27b + 30}$$

$$E = -5(6-3z) - 9 + z$$

$$= -5 \times 6 - 5 \times (-3z) - 9 + z$$

$$= -30 + 15z - 9 + z$$

$$= \boxed{16z - 39}$$

$$F = 12x - 4(6-3x)$$

$$= 12x - 4 \times 6 - 4 \times (-3x)$$

$$= 12x - 24 + 12x$$

$$= \boxed{24x - 24}$$

$$17. A = 3x - 5 + 5(2x-2) = 3x - 5 + 5 \times 2x + 5 \times (-2)$$

$$= 3x - 5 + 10x - 10$$

$$= \boxed{13x - 15}$$

$$B = 4y - 6(3-2y) + 4(y-1)$$

$$= 4y - 6 \times 3 - 6 \times (-2y) + 4y + 4 \times (-1)$$

$$= 4y - 18 + 12y + 4y - 4$$

$$= \boxed{20y - 22}$$

$$C = 5t^2 + 3(2t-3) - 2t(t-5)$$

$$= 5t^2 + 3 \times 2t + 3 \times (-3) - 2t \times t - 2t \times (-5)$$

$$= 5t^2 + 6t - 9 - 2t^2 + 10t$$

$$= \boxed{3t^2 + 16t - 9}$$

Q

$$19 A = 3 \left(\frac{1}{4} + x \right) - \frac{1}{4} = 3 \times \frac{1}{4} + 3 \times x - \frac{1}{4}$$

$$= \frac{3}{4} + 3x - \frac{1}{4}$$

$$= 3x + \frac{2}{4}$$

$$= \boxed{3x + 2}$$

$$B = \frac{2}{3}x + 5 \left(x - \frac{1}{6} \right) = \frac{2}{3}x + 5 \times x + 5 \times \left(-\frac{1}{6} \right)$$

$$= \frac{2}{3}x + 5x - \frac{5}{6}$$

$$= \frac{2}{3}x + \frac{15}{3}x - \frac{5}{6}$$

$$= \boxed{\frac{17}{3}x - \frac{5}{6}}$$

$$C = \frac{3}{4}(x - 5) + \frac{1}{2} = \frac{3}{4} \times x + \frac{3}{4} \times (-5) + \frac{1}{2}$$

$$= \frac{3}{4}x - \frac{15}{4} + \frac{2}{4}$$

$$= \boxed{\frac{3}{4}x - \frac{13}{4}}$$

$$D = 2 + 3 \left(\frac{1}{5}x - \frac{1}{3} \right) = 2 + 3 \times \frac{1}{5}x + 3 \times -\frac{1}{3}$$

$$= 2 + \frac{3}{5}x - 1$$

$$= \boxed{\frac{3}{5}x + 1}$$

5

$$\begin{aligned}
 20. A &= (x+4)(x+3) \\
 &= x \times x + x \times 3 + 4 \times x + 4 \times 3 \\
 &= x^2 + 3x + 4x + 12 \\
 &= \boxed{x^2 + 7x + 12}
 \end{aligned}$$

$$\begin{aligned}
 B &= (y+3)(2y+8) \\
 &= y \times 2y + y \times 8 + 3 \times 2y + 3 \times 8 \\
 &= 2y^2 + 8y + 6y + 24 \\
 &= \boxed{2y^2 + 14y + 24}
 \end{aligned}$$

$$\begin{aligned}
 C &= (3z+4)(5-6z) \\
 &= 3z \times 5 + 3z \times (-6z) + 4 \times 5 + 4 \times (-6z) \\
 &= 15z - 18z^2 + 20 - 24z \\
 &= \boxed{-18z^2 - 9z + 20}
 \end{aligned}$$

$$\begin{aligned}
 D &= (-7t+8)(3-5t) \\
 &= -7t \times 3 - 7t \times (-5t) + 8 \times 3 + 8 \times (-5t) \\
 &= -21t + 35t^2 + 24 - 40t \\
 &= \boxed{35t^2 - 61t + 24}
 \end{aligned}$$

$$\begin{aligned}
 21. A &= (7-3x)(9x-3) \\
 &= 7 \times 9x + 7 \times (-3) - 3x \times 9x - 3x \times (-3) \\
 &= 63x - 21 - 27x^2 + 9x \\
 &= \boxed{-27x^2 + 72x - 21}
 \end{aligned}$$

$$\begin{aligned}
 B &= (-2-3y)(4-8y) \\
 &= -2 \times 4 - 2 \times (-8y) - 3y \times 4 - 3y \times (-8y) \\
 &= -8 + 16y - 12y + 24y^2 \\
 &= \boxed{24y^2 + 4y - 8}
 \end{aligned}$$

$$\begin{aligned}
 C &= (4a+6)(-3-5a) \\
 &= 4a \times (-3) + 4a \times (-5a) + 6 \times (-3) + 6 \times (-5a) \\
 &= -12a - 20a^2 - 18 - 30a \\
 &= \boxed{-20a^2 - 42a - 18}
 \end{aligned}$$

$$\begin{aligned}
 D &= (5z-7)(8z+2) \\
 &= 5z \times 8z + 5z \times 2 - 7 \times 8z - 7 \times 2 \\
 &= 40z^2 + 10z - 56z - 14 \\
 &= \boxed{40z^2 - 46z - 14}
 \end{aligned}$$

$$\begin{aligned}
 22. A &= (a+1)^2 \\
 &= (a+1)(a+1) \\
 &= a \times a + a \times 1 + 1 \times a + 1 \times 1 \\
 &= a^2 + a + a + 1 \\
 &= a^2 + 2a + 1
 \end{aligned}$$

$$\begin{aligned}
 C &= (5x+2)^2 \\
 &= (5x+2)(5x+2) \\
 &= 5x \times 5x + 5x \times 2 + 2 \times 5x + 2 \times 2 \\
 &= 25x^2 + 10x + 10x + 4 \\
 &= \boxed{25x^2 + 20x + 4}
 \end{aligned}$$

$$\begin{aligned}
 B &= (3y-4)^2 \\
 &= (3y-4)(3y-4) \\
 &= 3y \times 3y + 3y \times (-4) \\
 &\quad - 4 \times 3y - 4 \times (-4) \\
 &= 9y^2 - 12y - 12y + 16 \\
 &= \boxed{9y^2 - 24y + 16}
 \end{aligned}$$

$$\begin{aligned}
 D &= (4-x)^2 \\
 &= (4-x)(4-x) \\
 &= 4 \times 4 + 4 \times (-x) - x \times 4 - (-x) \times (-x) \\
 &= 16 - 4x - 4x + x^2 \\
 &= 16 - 8x + x^2 \\
 &= \boxed{x^2 - 8x + 16}
 \end{aligned}$$

⑥

$$\begin{aligned}
 23. A &= 3(x+1)(x-5) \\
 &= (3x+3)(x-5) \\
 &= 3x \cdot x + 3x \cdot (-5) + 3 \cdot x + 3 \cdot (-5) \\
 &= 3x^2 - 15x + 3x - 15 \\
 &= \boxed{3x^2 - 12x - 15}
 \end{aligned}$$

$$\begin{aligned}
 B &= 2(-3-t)(t-7) \\
 &= (-6-2t)(t-7) \\
 &= -6t - 6 \cdot (-7) - 2t \cdot t - 2t \cdot (-7) \\
 &= -6t + 42 - 2t^2 + 14t \\
 &= \boxed{-2t^2 + 8t + 42}
 \end{aligned}$$

$$\begin{aligned}
 C &= -(y+5)(3y-6) \\
 &= (-y-5)(3y-6) \\
 &= -3y^2 - y \cdot (-6) - 5 \cdot 3y - 5 \cdot (-6) \\
 &= -3y^2 + 6y - 15y + 30 \\
 &= \boxed{-3y^2 - 9y + 30}
 \end{aligned}$$

$$\begin{aligned}
 D &= x(2x-5)(2-x) \\
 &= (2x^2-5x)(2-x) \\
 &= 2x^2 \cdot 2 + 2x^2 \cdot (-x) - 5x \cdot 2 - 5x \cdot (-x) \\
 &= 4x^2 - 2x^3 - 10x + 5x^2 \\
 &= \boxed{-2x^3 + 9x^2 - 10x}
 \end{aligned}$$

$$\begin{aligned}
 25. a. P &= 2x+4 + 4x+7 + 2x+4 + 4x+7 \\
 &= \boxed{12x + 22}
 \end{aligned}$$

$$b. A = (4x+7)(2x+4)$$

$$\begin{aligned}
 c. A &= (4x+7)(2x+4) \\
 &= 4x \cdot 2x + 4x \cdot 4 + 7 \cdot 2x + 7 \cdot 4 \\
 &= 8x^2 + 16x + 14x + 28 \\
 &= \boxed{8x^2 + 30x + 28}
 \end{aligned}$$